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Count and write the number of cbjects in each box.
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Count the number of objects.
Then write the number in words in the box.
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5)
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Do the following and write the answer in the box.

7) 2 7 8) 4
+ 3 2 .+ 4 8

9) 6 5 10) B 5
- 3 3 -2 7




Section B {34 x 2 m)

Fill in The missing numbers.

12)




3

i#il in the boxes with the correct answers.

14)

15) 2 tens less than 64 is

26 is

A

i more than 80 .

Use the following numbgps Yo answer ques’ril:ns 16 and 17.

16)

(8

55

39

80 2b

75

is gpecn“er than 55 but smaller than 80.

is 30 more than the smallest number.
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18) If Y¢ +Y¢ +3¢ =9 - .
then ik = |

"
x

19) 4+4+4+4+4

= fours

20) Fill in the boxes with the corfect numbers.




(a) Object is the lightest.

i

(b) Object is the heaviest.

22)

The total mdss of an apple, an orange and a pineapple is

(B




Each 574 stands for 1 unit.

(a) The mass of the chickenﬁé units.,

(b) The chicken is units heavier than the fish.



Look gt the Pictures

below anc answep questions 24’ ang 25,

Can dr}'nk

woaf. of bredd—-_% B
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24) The mass of the {oaf of bréad isl | [Llfu'fs.

25) The mass of the

can drink ang the penci] box is ’ " ]
units altogether. B



The picture graph shows the favourite fruits of the pupils in class 1D.
Use it to answer questions 26-1o 30.

Each iﬁ( stands for 1 pupil.

Our Favourite Fruits -

l{j* ¥

I A A
W W
| %

apples bananas mangoes pineapples | rambutans -

v b Yo Yh T
S ¥ X ¥ ¥ T ¥ T ¥
X b ¥ 5 % %




26) The same number of pupils like _ and

27) 3 more pupils like mangoes than

28) | fewer pupils like rambutans than

bananas.

29)  Most pupils like

30) Thereare pupils in class 1D altogethar,

Il



Tick (V) the correct time, .

31) 32)

1 o'clock

11 o'clock

Write the time shown on egch clock.

33)

34)

Mingfa has his lunch at

12



35)  Colour 2 numbers that add up to 50.°

22

36) Mother Dﬂr)&d 30 cookies and packed them into packets of 6.
How mariy packets would she have ?
Circle to show your answer.
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She would have packets of cookies.
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37) Draw an equal number of apples on each plate.

HOOOOOOO
OHOOOOOO

There are

apples on each plate,
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Write down the

$i0 $10

35 52

Work out how much change you will ge.T for' each of the following

items.
4'2) Pay to cashier Chggige
43)
$ 10

16




The foliowing items are sold

inMr Lee's s‘ﬁop. Look at the pictures
and fill in the boxes with the

cerrect answers.

toy

44) Jane spent $ 15 in Mr Lee's shop.

She bought g and ar T i

- $18

45) e toy car.

Rahmat had $ 10. He wanted to buy th

E
| more.

He needed $

46) Devi had $ 30. She bought a toy guitar and school bag.

left.

‘She had $

17



2ection C (6 X 3 m }

"Do the story sums. All working must.be cle

arly shown,
47) Wilson has 67 marbies.

He has 5 marbles fewer than Ahmad.
How many marbles does Ahmad have ?

Ahinad has

. hmarbles.

48) Siti has 70 stickers in an album.
She gives 18 stickers to her sister.
How many stickers does she have now ?

1O

Siti has

stickers now .

18




At a bus stop, 20 passengers got of f and 9 passengers got on

the bus.
How many passengers are there on the bus now ?

O[0!

passengers on the bus now.

- 49) There are 31 passengers on a bus.

There are

50) Betty puts 4 marbles in each bag.
How many marbles does she need Yo put in 6 bags ?

She needs fo put marbles in 6 bags.

19
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51) There were 12 lollipops in a box.

Jane ate 2 lollipops and shared the rest egqually between her two
brothers.

How many lollipops did each brother get ?
Circle the picture below to show the answer.

PPPPPP
33333,

Each brother got lotlipops.

52) Jean had 3 ten-dollar notes. |
After buying the bear, she had $7 left.
What was the cost of the bear ?

$10 $10 - §10

O

The bear cost

20
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a)5 . b)2

8 : i

15 :
apples, mangoes
pineapples

4 o
bananas

29

There are. 5 apples on ea

:1f§§jﬁs$50

$i0.. $10 55
0) 904 41)%27 42)55¢
43387 44)Tea set, bat
45)%8 46)%12




47)Y67+5=72
Ahmad

72 marbles.

52)536 $7= $23 . :
The bear cost $23




